RREN

B CBT_1_

enMAY 2019
SFIFET 3




Exam Code : AADHI_3

Version :98

Archery is the national game of-
A)Sri Lanka
C)Switzerland

deEt @ U O g
A) Hreiepr
C)Racsels

Answer Key : B

Which of these diseases is communicable?
A)Plague
C)Cancer

ST W FieT W AN TepreAF &2
A)orT
C)dhax

Answer Key : A

Which is the longest muscle in the body?
A)Soleus
C)Trapezius

X T T ot R e @ &2
A)aiferaa
C)a#afaar (Trapezius)

Answer Key : D

Exam Date :25-05-2019

Exam Time :16:00 -17:30

Question No. 1

B)Bhutan
D)Denmark

Your Response : D (Wrong)

Question No. 2

B)Hypertension
D)Diabetes

B)3=d @@

D)FYRE

Pl
Your Response : A (Correct)

Question No. 3

B)Gracilis
D)Sartorius

B)dequsll (Gracilis)
D)&Ea#T (Sartorius)

Your Response : Not Answered

Question No. 4

Which disease is prevented with the help of Salk's vaccine?

A)Polio
C)Chicken pox

B)Measles
D)Small pox

R A Fr JFAH Fer T i Acg F FHr o 72
B)@&T(Measles)
D)&Er AT (Small pox)

Your Response : Not Answered

A)aifer(Polio)
C)BIEr AT (Chicken pox)

Answer Key : A




A)10.30 a.m. B)11 a.m.
C)9 a.m. D)10 a.m.

ar Vet A 3R B w g@t & el Y@r & 110 Rl f gft W Rua §) vw &1 A & geg 7 99 9o g%
X § 3R B Fr 3 20 frolvee A =rer F wworch 81 qEd &7 B § Yog 8 o9l Felell Y H § 3 A Hr
3T 25 Rpa/Ee & arer § Torch &1 fre wog § At fAelefr?

A)geg 10.30 &t B)gsE 11 o
C)gsg 9 &t D)gs® 10 o
Answer Key : D Your Response : B (Wrong)

Question No. 6
Ten years ago, the ages of father and son were in the ratio 3 : 1. Ten years hence this ratio will be 2 : 1. What
is the age of the father now?
A)B5 B)55
C)70 D)75

&w a¥ v, ar 3R g7 @ g 7 egarT 3 1 1 anl 10 ¥ F 916, I§ Hequra 2 ;1 geml Rar fr adaAeT

Y 3T et §2

A)65 B)55

C)70 D)75

Answer Key : C Your Response : C (Correct)

Question No.7

P and Q can do a work individually in 15 days and 20 days respectively. Find the respective ratio of their

efficiencies.
A)4:3 B)3:4
C)4:5 D)5: 4

P 3 Q e e 15 Rt 3w 20 R & Rl 1 = q@ ¢ @@ §1 3R Horar geTanstt T 3ngar
I el

A)4 : 3 B)3 : 4
C)4:5 D)5 : 4
Answer Key : A Your Response : A (Correct)

Question No. 8
Sneha wants to go to the market. She starts from her home which is in the north and comes to the crossing.
The road to her left ends in a park and straight ahead is the office complex, and market is located direct
opposite to the park. In which direction is the market to the crossing?
A)West B)South
C)East D)North

el SR ST Aee 81 96 39 B} & 4% &l §, o 3aer 7 ¢ 3R 9Rg W S 81 3w 91 3R e
el TSF UF F S § 3R 3O A9 M I W sRie aREw fRua #

IR Ok & e forr # 872

A)aiREsT [ — —— e -

ST o = = 0 o W« e s
TP el ViR e i S e e S MTRL




Question No. 9

Find the missing number in the following series.

8,6,8,14,30,(..), 233

A)60 B)77
C)72 D)55
feafaf@a Aol & qur wear wa fifsw)

8,6,8,14,30, (.), 233

A)60 B)77
C)72 D)55
Answer Key : B Your Response : Not Answered

Question No. 10
Find the least perfect square that is divisible by 21, 36 and 66.
A)213444 B)214344
C)214434 D)231444

g% DI ¥ B QUf 91 wEar i fifa, S 21, 36 3R 66 F fasTmeT @

A)213444 B)214344
C)214434 D)231444
Answer Key : A Your Response : C (Wrong)

Question No. 11

Which of these places was founded in 1577 by Guru Ram Das?
A)Jalandhar B)Amritsar
C)Chandigarh D)Ludhiana

g A fore Turer Sy TA9AT 1577 F 9% A 19 <@rT Hr TS A@r?

A)STelerR B) 3@a¥R
C)dasrTe D) fergrer
Answer Key : B Your Response : Not Answered

Question No. 12

Choose the figure that best represents the relationship among the
classes given below.
Teachers, Language, Hindi, Educated

A) B)




C) D)

3 PG H TUT H, A Hearad SR & §iT F ogew @
Hafead® o1 ¥ fawaa +dr gl
fereter, amem, ST, forfda

A) B)

C) D)

Answer Key :B Your Response : D (Wrong)

Question No. 13

If '+ means -, '-' means '+, '+ means X' and 'xX' means '+, then 18 x3+4-5+3 =7
A)29 B)21
C)26 D)31

R+ AR L, T IR E, e T S X ¥ AR X B e %, N 18 x 3+ 4-5
+3=7

A)29 B)21
C)26 D)31
Answer Key : C Your Response : C (Correct)

Question No. 14

Read the following information carefully and answer the question given below.

Six boys—A, B, C, D, E, F are standing in one row, and six girls—G, H, |, J, K, L are standing in another row
in such a way that each girl faces one boy, not necessarily in the same order. G is to the immediate right of
the girl who is facing E, the boy at the extreme right. Only B is between D and E. F is to the immediate left of
A and to the immediate right of C. | is facing A and is to the immediate left of H. L is third to the left of J.

Which of the following boys is to the immediate left of D?
A)F B)E
C)B D)A




rfaf@d IRt #F eae @ ¢ 3R T e 5w e F 3ar/ &I

B:d8H A B, C,D,E F3Ra: a=a G H, |, J, K L& iFd & 30 e @ & & 9@ a5 &
a5F A 3N g Y & owd a8 B s A @ G, 39 AR F o W F @I ¢, S g ok W ws
WHFERNIN T FRAIGTEDANEFIATAFABRIF, AF a5 3R o1l # 3R C & ¥ 3K 1l
#F @, HF o 3R worer F fRar 3l A 1 iR o B gu R L, J & ard ey e W2

rfaf@a & & @l &1 ds6r D & 91F 3 T97d H GsT 8§72

AF B)E
C)B D)A
Answer Key : D Your Response : Not Answered

Question No. 15

Find the ODD one out from the given options.

A)117,13 B)162, 18

C)304, 16 D)171, 19

R 1T Repedt & I F T

A)117, 13 B)162, 18

C)304, 16 D)171, 19

Answer Key : C Your Response : C (Correct)

Question No. 16
Pure ghee costing Rs.100 per kilogram and vegetable oil costing Rs.50 per kilogram are mixed in some ratio
and sold at Rs.96 per kilogram so as to gain 20%. In what ratio is ghee and oil mixed?
A)4:3 B)3:2
C)2:3 D)3: 4

£.100 9fer o arer g o 3R .50 gfer fFam arer gaeafar a @ O Igaa F Aemr smar ¥ 3R 20%
AT 9o FA & AT 2.96 Wi e A X & 9= Sar g1 o AR a7 A B sgara F e = 87

A4 3 B)3 : 2
C)2 : 3 D)3 : 4
Answer Key : B Your Response : B (Correct)

Question No. 17

Which of the following is NOT a celestial object?

A)Stars B)Ocean

C)Sun D)Planets
fArfaf@d & ¥ i a1 w s =t 82 -
N | e e v, S e e ) Py s ny /



Question No. 18
Two trains 100 m and 80 m in length are moving in the same direction, with speeds 51 m/s and 42 m/s
respectively. In what time will they cross each other?
A)18 seconds B)30 seconds
C)25 seconds D)20 seconds

100 #Hiex 3T 80 Hrex w&r ar ¢, FRr: 51 #Hiex / Fhs 3N 42 e / Johs F I T TH & 2w FH g
W 1 Rraer g7 7 9 T gAY F 9N & ol

A)18 ¥Fs B)30 &%E
C)25 dhg D)20 ¥hs
Answer Key : D Your Response : D (Correct)

Question No. 19
A sum of Rs.25000 amounts to Rs.32000 in 4 years. What is the rate of interest?
A)7% B)6.5%
C)8% D)6%

%.25000 fr T TR 4 a¥ 7 $.32000 g ST §1 AT T AT hfaC]

A)7% B)6.5%
C)8% D)6%
Answer Key : A Your Response : A (Correct)

Question No. 20

The cooking gas (LPG) mainly consists of-

A)Ethene B)Ethyne

C)Propene D)Propane and Butane

WS A (LPG) #F F&Ta: enfaer g §1

A)$AT B)guTST

C)drdier D)SIdeT 3R sgeeT

Answer Key : D Your Response : D (Correct)

Question No. 21

Choose from the alternatives the figure that best completes the

pattern given below.

A)




C) / D) \\

few a1v ool & ¥ € Apia g4, A A U AT Yo @ 9 s

/N
2

" Y ) \\
N\
C) \ D) \

Answer Key : B Your Response : B (Correct)

Question No. 22
Which Article of Indian Constitution gives the procedure for impeachment of the President?
A)Article 61 B)Article 48
C)Article 42 D)Article 59

ARAT HGET & R Jefede # Tsgafd W AGHIET T A AHHAT TekT A IS §7

A)3rTede 61 B)3iTede 48
C)3ieIede 42 D)3iTede 59
Answer Key : A Your Response : Not Answered

Question No. 23

If A and B are supplementary angles, then find the value of

tan A +tan B
1-tan A tan B~

A) B)

C) D)




e A 3 B o §, & Prefarae Jonattand g oan o

1-tanAtanB
HIl
A) B)
0 -1
C) D)
1 1/2
Answer Key : A Your Response : A (Correct)

Question No. 24
What is the aim of the "Young Scientist Programme’ for students, which was recently launched by ISRO?
A)To impart basic knowledge of space technology B)To impart basic knowledge of computers
C)To impart basic knowledge of biology D)To impart basic knowledge of research

ISRO S@RT g1l & & omEl & fAw dliea fhT a0 gar deias Fma’ H 327 A1 82

A) 37ARET SeN AR w1 HAHT ATl HaleT e B)&hTeX &l HAHT Al YaleT el
C)Sie fa=ileT o HAHT AT W&l Henl D)3TeIEeIIeT T FHeACT AT Jelel |
Answer Key : A Your Response : A (Correct)

Question No. 25

Find the ODD one out from the given options.

A)Van B)Car

C)Auto D)Bus

R 1w Reedt 7 & 3T F T

A)daT B)&R

C)3iter D)yg"

Answer Key : C Your Response : C (Correct)

Question No. 26

Complete the series.

B,C,F, G, J,K(.)

A)O B)M
C)P D)N
Foft &1 qot il

B’ C! F’ Gl J1 K’




Question No. 27

The process of movement of molecules from a higher concentration place to a lower concentration places is

known as-
A)Evaporation B)Diffusion
C)Sublimation D)Condensation

V3T F 3T WigeT aTer TART @ AT Figar arer TA@F 7 Ser A Gffwar B = FeT S g2

A)arsdiauT(Evaporation) B) fa&RoT(Diffusion)
C)Zeaurd=I(Sublimation) D)¥EA=1(Condensation)
Answer Key : B Your Response : Not Answered

Question No. 28
What is the minimum temperature to which a fuel must be heated so that it may catch fire and start burning?
A)Normal temperature B)Boiling temperature
C)Ignition temperature D)Neutral temperature

g6 FgeIad a1 8, o W R $ue it 96T e W GF AT 93 A § AN e oo g2

A)W a9 B)W GIS)
C)m GIE) D)?‘ET?-T GISE
Answer Key : C Your Response : C (Correct)

Question No. 29

Sodium metal is stored in-

A)Kerosene B)Ether

C)Water D)Acetone

D # FIR R ST Bl

AR F I B)$W

C)arir D)THiT

Answer Key : A Your Response : Not Answered

Question No. 30
If the frequency of a sound wave is 100 Hz, then what is its time period?
A)0.01 second B)1 second
C)10 seconds D)0.1 second

afg Ry eafer a¥er i smgfeT 100 &&aT &, & SHaT Madea A HifoT]

A)0.01 @Fs B)1 Q&8
C)10 ¥%hs D)0.1 @3
Answer Key : A Your Response : A (Correct)

Question No. 31
A group of more than three atoms carrying a charge is known as ion.
A)Polyatomic B)Tri atomic
C)Mono atomic D)Di atomic




C)Teh TRHATIIH D)efd AR

Answer Key : A Your Response : A (Correct)
Question No. 32

Find the value of sin 60°cos 30° + cos 60° sin 30°.

AY1/2 B)3/4

C)1/4 D)1

sin 60°cos 30° + cos 60° sin 30° & A AT HIfAT|

A)1/2 B)3/4
C)1/4 D)1
Answer Key : D Your Response : D (Correct)

Question No. 33

Which satellite is dedicated as India's first multi wavelength space observatory?
A)SRMSAT B)SARAL
C)Jugnu D)Astrosat

FleT WM 3UIE AR Y Tgell 95 TR iaRer derenen & &9 3 wAla &2

A)SRMSAT B)SARAL
C)Loreg D)TERiC
Answer Key : D Your Response : Not Answered

Question No. 34
Which organ in the human body regulates the sugar content in the blood?
A)Stomach B)Liver
C)Gall bladder D)Pancreas

AT T T Sl AT 3091 7T & TR Hr AR A AIRNT Fwear §2

A) STATRT B) Il‘clg_cf
C)Rcarer D)31e=amery
Answer Key : D Your Response : D (Correct)

Question No. 35
Find the HCF of 5613, 1134 and 1215.
A)18 B)33
C)27 D)36

513, 1134 3 1215 & #A. €. T (HCF) Jiia Hifaw]

A)18 B)33
C)27 D)36
Answer Key : C Your Response : C (Correct)

Question No. 36

In which part of the human ear is amplification of sound done by 3 bones?
A)Outer ear BlInner ear




A)aET &l B)3C&sil el
C)#auT dfenr D)HET el

Answer Key : D Your Response : Not Answered
Question No. 37

Choose the alternative that best replaces the question mark(?) in the

given figure.
16 | 36 | 64
4 6 ?
15| 13| 11
11 7 3
A) 6 B)
3
C) D)
5

39 oeT & IO ®, S AR H T BES (?) F TUH W™
I % T wafead aged el

16 | 86 | 64
4 6 ?
15| 13 | 11
11] 7 3
A) 8 B)
3
C) D)
5
Answer Key : D Your Response : D (Correct)

Question No. 38
If the selling price is doubled, then profit triples. What is the profit per cent?
A)80% B)120%
C)60% D)100%




Answer Key : D Your Response : D (Correct)

Question No. 39

Limestone, chalk and marble are different forms of-

A)Sodium hydroxide B)YAmmonium hydroxide
C)Calcium carbonate D)Calcium hydroxide

Tl 9, 16 AR WereR, & fafdesr w9 8

A)TISTH gresiaass B)3mfaua grssiaass
C)Fforaa wefae D)&hforrTeT grsgiFarss

Answer Key : C Your Response : D (Wrong)

Question No. 40
fO#3@4=31and8#7 @ 2 =58, then what willbe 5#6 @ 7?
A)40 B)52
C)37 D)47

IR 9O#3@4=313R8#7@2=58%, A1 5#6 @ 7 & A AT AfAw

A)40 B)52
C)37 D)47
Answer Key : C Your Response : C (Correct)

Question No. 41

Complete the series.

ABZ, BCY, CDX, DEW, (...)

A)EFV B)FEV
C)DEF D)DEV
Aoft &1 qot Hifaw]

ABZ, BCY, CDX, DEW, (..)

A)EFV B)FEV
C)DEF D)DEV
Answer Key : A Your Response : A (Correct)

Question No. 42
Which of these is a hill station in Rajasthan?
A)Kasauli B)Mount Abu
C)Panchgani D)Nainital

A8 ¥ Fia G T H Py & Ra-weue 82
A)Fatelr
C)uTaTait

Answer Key : B




Find the wrong number in the given series.

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
& IS Joft & § s W& AT P

6, 12, 21, 36, 56, 81

A)56 B)36
C)21 D)12
Answer Key : D Your Response : A (Wrong)

Question No. 44
Which organ in the human body helps to maintain balance?
A)Heart B)Liver
C)Ear D)Brain

Al AR T HleT A 3T HJolel TAT WA F Heg AT 872

A)geg B)a&d
C)apret D)ATETSH
Answer Key : C Your Response : D (Wrong)

Question No. 45
Which of the following is a use of ethanol?
A)ln alcoholic drinks B)In cough syrups
C)Manufacturing paints D)AIl of the options

frfaf@d F & fraet sdalar &1 39T giar 82

A)UehigeT JoFd 9T H B)&w iR &
C)RfeEr e & Djse#t & @sfr
Answer Key : D Your Response : D (Correct)

Question No. 46
What day of the week will 1 January 2022 be?
A)Monday B)Thursday
C)Saturday D)Sunday

1 FTad 2022 Hr A T ST IT & gem?

A)HIFAR B)I&aR
C)ufaar D)Rfaar
Answer Key : C Your Response : Not Answered

Question No. 47

Which number will I



A)210 B)229
C)212 D)215

FieT W FEwr AT Re v @6y Fr wafcad G § Qo HE?

6:24 120 : 7

A)210 B)229
C)212 D)215
Answer Key : A Your Response : Not Answered

Question No. 48
Which of these plants is mainly found in deserts?
A)Cactus B)Oak
C)Eucalyptus D)Teak

g A T AT dler T ¥ F e F 9rr s 82

A)FFcT B)deld
C)gshferceq D)araiiet
Answer Key : A Your Response : A (Correct)

Question No. 49
Which of the following former Indian Presidents served for the shortest duration?
A)R. Venkataraman B)Dr. Zakir Husain
C)Dr. Rajendra Prasad D)Neelam S. Reddy

i@ & ¥ 5 qF R Tsgufa 3 I99 F4 36 F AT ggar derar?

A)R. dheIHTT B)Sl. Sy gdet
C)3t. Ieig gdg D)ol S. 3B
Answer Key : B Your Response : B (Correct)

Question No. 50
How is the ammeter connected in all circuits to measure current flowing in it?
A)Across B)In line
C)In series D)In parallel

T aRTr & J8eT arelr 9RT @ AT & fAT T Fr H/ SAIST ST §?

A)IRUR & B)eiget #H
C)Aufr & D)aHATATAR
Answer Key : C Your Response : C (Correct)

Question No. 51
The liquid portion of blood is called-
A)Serum B)Water
C)Lymph D)Plasma




Orrical D)TellsHT
Answer Key : D Your Response : A (Wrong)
Question No. 52

To which of the following family of elements does potassium belong?
A)Alkaline earth metals B)Alkali metals
C)Noble gases D)Halogens

MRRRE AEA@T # ¥ AT dea-aRar ¥ d&fT &7

A)&TRIT FeT aTu B)&T{rg emqu
C)afsra 3 D)geitstet
Answer Key : B Your Response : A (Wrong)

Question No. 53

An ammeter has resistance, so that it passes maximum current through it.
A)Very high B)Infinite

C)Very less D)High

THIET T HfeRrer g &, foed ffrsae 4R SE9 ge varRd & a&l
A)Fcafas B)3teld

C)sgd &H D)3ifde

Ans:ver Key:C Your Response : C (Correct)

Question No. 54
If ' PEOPLE' is coded as 'PLPOEE', how is "TREND' coded?
A)DNERT B)TNERD
C)NDETR D)TREDN

e 'PEOPLE' & 'PLPOEE' & &9 # HIf3d fFar Sar §, @ 'TREND' #I 59 YR f2d Brar smean?

A)DNERT B)TNERD
C)NDETR D)TREDN
Answer Key : B Your Response : B (Correct)

Question No. 55
Vedha walked 15 m from point A in the east direction and turned south and walked 8 m to reach point B. What
is the distance between point A and point B?
A)18 m B)17 m
C)15m D)12 m

dg, fig A & qd form # 15 #liex wem 3R gor Hr I 5T IR 8 Hex T g B dF wgw @ g A

3T g B & A A7 g Reaelt 82

A)18 & B)17 =

C)15 #r D)12 #r

Answer Key : B Your Response : B (Correct)

Question No. 56




A)448 B)493
C)461 D)480

sl 1 gt Bl

4, 4, 8, 24, 96, (..)

A)448 B)493
C)461 D)480
Answer Key : D Your Response : D (Correct)

Question No. 57
Which of the following diseases is a disease of the lung?
A)Allergy B)Tuberculosis
C)Tetanus D)Cancer

farfaf@a & & i @ Aol s Fr fardr 2

A) TeTSit B)dufes
C)iees D)&aT
Answer Key : B Your Response : B (Correct)

Question No. 58

If a convex lens forms a real inverted same size image at 30cm, then the object is placed ______in front of the
lens.

A)40 cm B)30 cm

C)10cm D)20 cm

IfE T Iecder o 30 WA A g W FAGT HHR F ARAAF T 3T Wi qarar §, oF o] o & A

_ &gl w U gl §

A)40 THT B)30 @#r

C)10 &=t D)20 &Y

Answer Key : B Your Response : B (Correct)

Question No. 59
The price of a book was first increased by 25% and then reduced by 20%. What is the change in its original
price?
A)No change B)10% decrease
C)10% increase D)5% decrease

T G T Hed ool 25% FOIRT T 3 WY 38 20% FA W f&AT 1471 $0h adfdh qed H g arelr
e =T 82

A)Fis aRade T B)10% T

C)10% 3f& D)5% T

Answer Key : A




The radius of a sphere is 3 times the radius of a cylinder. If their volumes are equal, find the height of the
cylinder.

A)36 times its radius B)3 times its radius

C)27 times its radius D)Equal to its radius

T A fr BT Th JoiT Y B § 3 N w¥E §) AR 3T AT A §, o A B FES AT
|

A)ggehT TS &M 36 IO B)g&ehr f3ar &1 3 Iom
C)gwehr T3 &1 27 Iom D)zadhr B=ar & SR
Answer Key : A Your Response : A (Correct)

Question No. 61
In some machines, why is using oil as a lubricant not advisable?
A)Oil makes the machine parts and the whole placeB)Oil sometimes increases friction
dirty
C)Sometimes oil leaks into the parts of the machineD)Oil makes the movement of the parts tough
causing undesirable obstruction of working

Fo M 7, WeF & T F ac F1 35T Fer w74t 3R 786 82

A)erel 7T & Yoif 3 ¥ SeTg @Y IeT Y &ar g1 B)diel shefi-shelt eor v er & gl

C)ymef-arell et & Fo fewdl & dor &1 R g1 SATAD)cer Yoit 1 1Y &l hfded g1 e
g, [oEy SRV & 3Eio=T S8 3cdeT glar gl

Answer Key : C Your Response : C (Correct)

Question No. 62

According to World Health Organization, the soft water has 0 to milligram per litre as CaCOs.
A)30 B)60
C)90 D)120

fara o Heres & AR, 99 S F 0 & forefemer wfer dfiex CaCO; g &1

A)30 B)60
C)90 D)120
Answer Key : B Your Response : D (Wrong)

Question No. 63
ifa(@a+b+c)=45;b(a+b+c)=75andc(a+b+c)=105, then find the value of a2 + b? + ¢
A)90 B)625
C)225 D)83

ga@+rb+c)=45b(@a+b+c)=753c(a+b+c)=105g, a a® + b? + ¢ & AT AT
EaIy

A)90 B)625

C)225 D)83

Answer Key : D Your Response : D (Correct)




How many squares are there in the given figure?

A) B)

C) D)

19

& a1 et F fraa a9 §2

A) B) 15
D
21
C) D) 17
19
Answer Key : D Your Response : Not Answered

Question No. 65

In universal indicators, red colour shows a pH of-

A)Oto 3 B)12to 14

Cldto7 D)8 to 11

WEHIAS gaet &, AT T F pH AT A ST T B

A0 ¥ 3 B)12 & 14

C4 a7 D)8 ¥ 11

Answer Key : A Your Response : Not Answered

’ //




Read the following information carefully and answer the question given below.

A, B, C, D, E, F, G and H are sitting around a circle facing the center. B is third to the right of F and third to the
left of H. C is fourth to the left of A. A is not an immediate neighbor of F and B. E is not an immediate neighbor
of B. G is second to the right of D.

Which of the following pairs represents the immediate neighbors of F?

A)C and E B)H and D
C)CandH D)Eand D

Ffaf@d IRt #F & & 96 3R T Be 50 e #r 3c/ &I

A BCDEFGIIHIFAIMNPFRF G FaFININISE B FHFau AT iR HF
g & T 1 C, A F a0 ¥ her &1 A, F 3R B & hedw wERl 7€t ¥ E, B T Aeean i 78
G, D ¥ &$ 3R qEYy VI W ¢l

RArafaf@a 7 & i @ Jer F & Recan wifkEl & sfafaftics swar 872

A)C 3R E B)H 3ix D
C)C 3R H D)E 3R D
Answer Key : A Your Response : Not Answered

Question No. 67

The acceleration experienced by an object during a free fall is independent of its-

A)Velocity B)Pressure

C)Mass D)Energy

HqFT T A I arely frel 9% qamr Jigs1a fRam ST arelr cawor, S8 ¥ FacT g &l
A)TaT B)arer

C)gegATT D)Zair

Answer Key : C Your Response : C (Correct)

Question No. 68

What is the shape of the Cocci bacteria?

A)Rod shaped B)Spherical

C)Spiral D)Comma-shaped

Frh TR A R S A B2

A)BBFAT B) ek

C)Fsferd 3R D)&hiAT & 3R

Answer Key : B Your Response : Not Answered

Question No. 69
If in a certain code 'COLOURED' is wrltten as 'XDPDNAQZ' then how w1II 'ORDER' be vlvntten in that code?

)

o Y S =)
A A | T et T e e e o) o o wid




I & fAREd Fesmr # 'COLORED' # 'XDPDNAQZ' fa@r Sirer &, ot 3% Feamwr 7 'ORDER' & Hd
forgr sreem?

A)DAZAQ B)DAQZA
C)ADZQA D)DAZQA
Answer Key : D Your Response : D (Correct)

Question No.70
Which nutrient provides the maximum energy on breakdown?
A)Carbohydrates B)Fats
C)Fibres D)Proteins

FleT AT GYF T ST F U FRFAH Folt YGHT FT 82

A)FEigisge B)adr
C)wIgsk D)t
Answer Key : B Your Response : D (Wrong)

Question No. 71

Which Indian city is famous for the embroidery work called 'Chikankari*?
A)Ahmedabad B)Lucknow
C)Hyderabad D)Puri

FieT AT ARAT AT FoTS FT Fell 'Rpeapr’ & T g 272

A) 3gHCElG B)H’@H?
C)geree D)g&r
Answer Key : B Your Response : Not Answered

Question No.72
P takes 10 days and Q takes 24 days to complete a work. With the help of R, they all work together and finish
it in 6 days. Find the payment they receive out of a total remuneration of Rs.1000.
A)P-Rs.400; Q-Rs.350; R-Rs.250 B)P-Rs.500; Q-Rs.350; R-Rs.150
C)P-Rs.600; Q-Rs.250; R-Rs.150 D)P-Rs.500; Q-Rs.400; R-Rs.100

P & @F H & QU & # 10 B 3R Q #: 24 Re o §1| R A 7o &, T @ 0F QY FH W §
3R 5% 6 Rt & qU # &1 £.1000 & Fer ARHAAG F § 3¢ Ao A AT HrfSC|

A)P-%.400; Q-%.350; R-%.250 B)P-%.500; Q-%.350; R-%.150
C)P-%.600; Q-%.250; R-%.150 D)P-%.500; Q-%.400; R-%.100
Answer Key : C Your Response : C (Correct)

Question No.73
Find the least number that is divisible by 12, 18, 21, and 30.
A)1620 B)1260
C)1020 D)1060

I8 O ¥ B & AT fifaw, S 12, 18, 21 3k 30 I s &8l
A)1620 B)1260
Y1020 | i T el T i et ey B s 0 Y/




Simplify : 5+4x52+4x53+4x5%+4x55
A)52 B)58
C)5* D)56

WA RAGT:5+4x52+4x5+4x5%+4x55

A)52 B)58
C)54 D)58
Answer Key : D Your Response : D (Correct)

Question No.75
What should be the smallest integer in place of * if the number 502*693 is exactly divisible by 9?
A)2 B)4
C)3 D)0

Ifg 502x693, 9 ¥ T g ST B, dF » F T W TG BleT YUlieh AT glell T1iRT?

A)2 B)4
C)3 D)0
Answer Key : A Your Response : A (Correct)

Question No.76
A sum of Rs.1100 was taken as a loan. This is to be paid in two equal instalments. If the rate of interest is
20% per annum, compounded annually, find the amount payable in each instalment.
A)Rs.620 B)Rs.670
C)Rs.600 D)Rs.720

T.1100 Fr TR KT & 7 7 o 3 A HH P aF AW Beal & BFar ser €1 g sarer av 20%
aIfi¥e &, 3R sarsr Fir 0T ¥ TRgle IR o T STl &, aF I R $r TRY AT Aifse)

A)%.620 B)%.670
C)%.600 D)%.720
Answer Key : D Your Response : Not Answered

Question No. 77
Which of the following teams won the final in Vijay-Hazare Trophy 2018?
A)Delhi B)Rajasthan
C)Mumbai D)Punjab

Tfaf@d & ¥ Fa & o Jeg-gat e 2018 & wETe Sidar?

A)feeen B)ITsTEdTsT
C)Hss D)dsta
Answer Key : C Your Response : C (Correct)

Question No.78
Find the ODD one out from the given options.
A)Cheetah B)Leopard
C)Elephant D)Cougar

S i = r ot N < oy P Yy /
S R e e | TR L mmy /

e g B ey =t
[T e T = s



C)grir D)&IR

N

Answer Key : C Your Response : C (Correct)

Question No. 79

Which of the following is equal to Hertz?

A)m s B)s™

C)s D)m/s

ol 7 & =i 97 8T F TR §?

A)m s2 B)s™!

C)s Dm /s

Answer Key : B Your Response : B (Correct)

Question No. 80

sin 3A " cos 3A

Simplify:
sin A cos A
A) B)
-2 2cos A
C) D)
2sin A 4 cos 2A

1 (>
T AR sin 3A N cos 3A
sin A cos A

A) B)
-2 2cos A
C) D)
2sin A 4 cos 2A
Answer Key : D Your Response : D (Correct)

Question No. 81

can be pla

FhD

What is the length of the greatest rod that ced i

n a hall 12 Io_ng, 4 m broad and 3 m high?

/




3 GaY 99 BF i oaS AT fIfeT, S 12 M 9, 4 #Hiex @i 3 3 #Hier 3 gl F w@r ST Fhar &7

A)18 B)13 #r
C)9 #r D)15 #r
Answer Key : B Your Response : Not Answered

Question No. 82
Which of the following districts won the platinum of Web Ratna Award in Digital India Awards 2018?
A)Aurangabad B)Kurukshetra
C)Koraput D)Chennai

rafef@a & ¥ Fa S F B SfE2ar 3asa 2018 & 39 IT a7 wifess B@aw shar?

A) 3iRaTETe B)FearT
C)shRIge D)8
Answer Key : B Your Response : Not Answered

Question No. 83
A vessel contains 20 litres containing milk and water in the ratio 3 : 2. Ten litres of this milk is removed and
replaced with equal amount of pure milk. If this process is repeated once again, find the final ratio of milk and
water.
A)1:4 B)5:3
C)9:1 D)4 : 1

T 9T H 3 1 2 F T H AT 70 g AR gl 20 offeT AHr §1 59T & &H e AT W 3w
30 & 4% qu fAer ST ¥ IR 75 e o aR R @ Qs Sl 8, @ gy R 9wl & sifaw s
7T ffsw]

A1 : 4 B)5 : 3
C)9 : 1 D)4 : 1
Answer Key : C Your Response : D (Wrong)

Question No. 84
Who is the present captain of India's men National field hockey team?
A)Manpreet Singh B)Harmanpreet Singh
C)Rupinder Pal Singh D)Akashdeep Singh

HRA F oY T Pies glehr ST F FadAreT Fociel Pl g2

A)ATNT g B)gHIIT g
C)&iieT urer g D)3meIiEIT g
Answer Key : A Your Response : Not Answered

Question No. 85
What is the name of the border line between India and China?
A)Durand Line B)Radcliffe Line
C)McMahon Line D)24th parallel

R AR @ F S Hr D@ w1 A =/ g

R e RS TERSAEH S e .,y /
A== Y@ | T o s (s e oy B e () sy




Question No. 86
In a certain code, 'HUNTER' is coded as 'UHNTRE'. How is 'MANAGE' coded in that code?
A)MAANGE B)EGNAAM
C)AMNAEG D)MNAAEG

U AR gesmr A, 'HUNTER' & 'UHNTRE' & &7 # #If3a fRar sirar &1 3 gesmwr & 'MANAGE' &t
9 9R FifET fhar sean?

A)MAANGE B)EGNAAM
C)AMNAEG D)MNAAEG
Answer Key : C Your Response : C (Correct)

Question No. 87
A right circular cylinder just encloses a sphere of radius 6 cm. If A and B are their curved surface areas, then:
A)A<B B)Cannot be determined
C)A=B D)A>B

T gt ol 6 Wl BT AT A s qoiern weifed R oidT ¥ A 3 @ qeet & &l A 3R B
g an

AA < B B)uiRa &1 fpar a1 @ehar
C)A =B D)A > B
Answer Key : C Your Response : D (Wrong)

Question No. 88
A certain sum of money invested at Compound Interest, compounded annually, amounts to Rs.338 at the rate
of 4% per annum for 2 years. Find the sum.
A)Rs.320 B)Rs.315
C)Rs.318.52 D)Rs.312.50

el e ool i wrgfe sarer W e B o, 2 ot & v 4% affs owgfs ser fr T § 7%
TR %. 338 g S gl AR wAT RS

A)%.320 B)%.315
C)%.318.52 D)%¥.312.50
Answer Key : D Your Response : D (Correct)

Question No. 89

Which of the following will best complete the relationship given below?
BAT : YZG::EMU: ?

A)VNF B)FVN
C)VFN D)FNV

ffaf@a 7 & @ia a1 @ v 77w Haer Fr wefeasw o @ qob HEm?




Answer Key : A Your Response : A (Correct)

Question No. 20
If 3(2/5) + 1(2/9) = 4(4/5) - a, find the value of 'a'.
A)11/45 B)16/9
C)4/45 D)6/25

Ify 3(2/5) + 1(2/9) = 4(4/5) - a @Y, & 'a' FT AT AT PFOT

A)11/45 B)16/9
C)4/45 D)6/25
Answer Key : B Your Response : B (Correct)

Question No. 21
Where did Google launch its first drone delivery service in 2019?
A)England B)Australia
C)India D)United States

2019 & JETS F 3YaAr Tl Pl Beladl Jar Hr YT Fgl Hr?

NS B)3iTecterar
C)#Rd D)&gFd I
Answer Key : B Your Response : D (Wrong)

Question No. 92
What digit will come in the place of 'a' in the number 1a5a01, if it is divisible by 11?
A)5 B)4
C)6 D)8

TEAT 1a5a01 # 'a' & TART W ST TT 3iF 30em, I I8 d&ar 11 § [{ersy 82

A)S B)4
C)6 D)8
Answer Key : D Your Response : Not Answered

Question No. 23
Which are the BRIC countries?

A)Britain, Russia, India and China B)Brazil, Russia, India and China
C)Britain, Russia, India and Canada D)Brazil, Russia, India and Canada
BRIC &2r i & §72

A)fses, &1, aRd AR A B)siTSier, ¥, HRd 3R et
C)isie, &, #R 3T shefrsr D)siTeilel, &, $ 3i shafrsT
Answer Key : B Your Response : B (Correct)

Question No. 94
In what time will a train 100 m long cross an electric pole, if its speed is 144 km/h?
A)4.25 seconds B)S seconds
C)2.5 seconds




C)2.5 &S D)12.5 ¥&s

Answer Key : C Your Response : C (Correct)

Question No. 95
Simplify: (5 + 0.5 + 0.005 + 0.0005 + 0.05) x 2
A)11.111 B)11.011
C)11.001 D)10.111

W ffore: (5 + 0.5 + 0.005 + 0.0005 + 0.05) x 2

A)11.111 B)11.011
C)11.001 D)10.111
Answer Key : A Your Response : A (Correct)

Question No. 26

K-shell is the energy level.

A)Fourth B)First

C)Third D)Second

K-9ver Fal TR B

INEGE B)Taa

C)dcirr D)afadi=r

Answer Key : B Your Response : A (Wrong)

Question No. 97
When a decomposition reaction is carried out by heating, it is called-
A)Thermal decomposition B)Non electrolytic decomposition reaction
C)Photo decomposition reaction D)Electrolytic decomposition reaction

I FIE NTEST JRBHAT, AT F 3G FIh Hr ST &, aF W FAT Far SAar 872

A)drdT 39acsT B)3R degd-3rauesr iqees 3ifafsmar
C)uarreli 3rueresT 3ifAfehar D)degd-31ueresi Jqaes fafhar
Answer Key : A Your Response : A (Correct)

Question No. 98
Gokul walks 8 km from his home towards east. He turns left to cover 2 km, and he turns right and walks 3 km.
Find the distance he travelled towards east?
A)5 km B)14 km
C)8 km D)11 km

el 3 WX @ 8 fnelr qd Y 3R Faar Bl @ a0 Hqgar ¢ 3 2 Rl gaar B, BN 97 o 3R Hgear ¥
3R 3 el wrorar 81 38 garT qd farmr F =l 1§ gfr e RS

A)5 fReY B)14 fpeit
C)8 sy D)11 femaly
Answer Key : D Your Response : D (Correct)

Question No. 99




A)24 B)25
C)28 D)27

sroft 1 gt Bl

38, 35, 34, 31, 30, (.

A)24 B)25
C)28 D)27
Answer Key : D Your Response : D (Correct)

Question No. 100
If a/b is a fraction, where a =b - 3 and (a + 10)/b - a/b = 10/7, then find a/b.
A7 B)5/8
C)2/5 D)8/11

afE a/b v ResT 8, Sler a = b - 3 30 (@ + 10)b - a/b = 10/7 &, & a/b 7T AT
A)4I7 B)5/8
C)2/5 D)8/11

Answer Key : A Your Response : A (Correct)




